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II. PART 5°] #AI5%

1. Business owners on Tribeca Island believe that the newly constructed
botanic garden will tourists during the summer months.

(A) detect

(B) attract

(C) compel

(D) appeal

B)

AL 013 FAQUT B3R BolBoltp} HgeEE B)7F FUUTH compel ©]
A2 A7|t} appeal 43T} detect BH3IUIT attract VIEA|7|TF EHES HojEolt)
g= JideZ attract 7F AHUYTE owner 591 believe T newly A|E Al construct
71743t} botanic &9 tourist 47

(B4 Tribeca Island2| Al &FFES MEA XK= AlE HYo| 6{E 7[7t Sotof

]

-~

k

HES BoEY Holcletn 2ech
2. When the deal fell through, the seller was because he had

firmly believed that the buyer was satisfied.
(A) encouraged
(B) interested
(C) delighted
(D) astonished

€0))
@) Aol 3] EAlYUTh uiabs Ayt A= AE o st AF8RE (D)7 B9
Ut} encouraged 42 W interested ¥H] U delighted 7] 3}H= fall through 41 3
e

) BolRHE Hlo[of7t BESISE HOE SAIYT| mh2ol Helvt ZREUS o ST

3. Pleas remember that the of cameras and other recording
devices is prohibited during the performance.

(A) operated

(B) operator

(C) operate
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(D) operation

)

HAF o] & +0] 3] EAYUTE A Foll AL AE] o] i 5 A F o] A= A2 operator X
2k217} olu e} operation 22 YU TE remember 7]2}3}t} recording 715 device ]
prohibit &4 3}t} performance &</

FiHatEnt o2 715 &x|E2 =F0| SdEeole FX=E0X= HE 7|dstM L.

4. In order to help customers with their holiday shopping, the downtown
merchants have agreed to stay open during the month of
December.

(A) much

(B) late

(C) far

(D) well

(B)

FAF 03] EAIYUTE EAF] stay open¥}t ST 7} SaljoF SRR A late’t A A5}
22 B)7F 99U far F2] well 4 much 2| late =, =2 Ao =4
A A0 R late’} AHYYTE in order to V 3171 1314 customer 117 holiday

< downtown AU merchant ‘4! agree &<]3Ith

=
) HY 4TS she DHES B olsiM T MolSS YT Skt £ 22 @
ojFE %2 Selct,

5. Environmental conservation organizations and agencies are listed
by name.

(A) alphabetically

(B) alphabetize

(C) alphabet

(D) alphabetical

(A)
AL 2] BAQULE Be ppg FHSE A FAYUYTE environmental 7

conservation H.&
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a significantly large marketplace, is attracting a

td 2=

G =

6. China, which
growing number of prospective investors

E3jof

]

(A) represents
B}

(B) sheds

(C) focuses
(D) denounces

]k, WET significantly &
ACE.

(e}
=38

A)
% 35}} shed -2

FAF o3 EAIYYTE 3] 2 Al significantly large marketplace2} 550]
sl thESITIQ represents’} AA3IEE (A7} HIUTE focus
denounce -& H]'A3}T} represent -<
Lo Eo|t} prospective 7H UE, <lM]9] investor FAAL
25| 2 AIFO[0IM O B2 2| ofH] FAMKISS B0 221

S

33]attract
Ak =
7. Before purchasing software programs, buyers need to consider whether the

B
with their existing systems

products are

(A) favorable
(B) amendable
(C) compatible

(D) undeniable
|& Al2=E1Q1 with their existing systems$} 50| &3 oF 3}
ol compatibleo] HAsEZ (C)7} HYUTE compatible Z3}EE
13l &

7=
Sk A
favorable %-%.%91 amendable =74 33t FHoll XA} with
Ayt purchase 3T} need
ZE existing EdH=
o A|lAREDL S 3

(®)
@) A ol BAY
2 33HE=
A =
9} o] &2 be compatible with -9} &3] ©]
O
2 MEE0|

undeniable

31t} consider 31# 3T} whether -S14] o}AA] product
= Folistz| Mol FoiRE

I‘x] 9
H ~ZEQo Z2OYES
A E ne{gt 2eIt qlct
8. To make their show a success, Broadway producers should come up with
with the Western musical

R
147

ways to interest the audience
(A) unanticipated
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(B) unoccupied
(C) unavailable

(D) unfamiliar

(D)

FEAL o9 EAYUTE unfamiliar with A: At F55H4] @& o & SEqiuTh A HA)

=
7 Western musical?} 15314 ¢Fe A Fo] A8l g (D)7} AHU YT unavailable ©]
£ E7Fs3 914 E7153 unanticipated /g% 3t unoccupied YT HA] 2, H]oI9]
= come up with -& 273 Wt} audience A5, T

A5 20 392 MaXoR 17| ailM E2EQ 0| MAXES MY FXIHo| Mast
Aol olgg AREE e Fakslof Sioh

9. The nation's current-account deficit shrank more than in the

third quarter.
(A) expecting
(B) expectation
(C) expect
(D) expected

(D)

FEAF EAY9YTE more than TS it was =2 it had been®] AJFH Ao 2 B 4= 91X
9 ‘more than expected °ldRU} BWol'E & AHAH <9 F
current account “374<7A] deficit %2} shrink &°]Et}

HAX| MR 3AHEY| of &k 2|2 ZHARiCt

10. Hundreds of prominent public officials and business in the
nation have gathered to celebrate the opening of the community center.

(A) senses

(B) copies

(C) figures

(D) debates

©)
Hate3] FAJQUTE A A QAR business figures7} HHESERE (C)7F AU Th
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debate =7 sense 77} copy (¥, Ba4) &, S5 prominent 53+ gather Fo]t}
SA) 8 ™ol 0|F AU ST A 2ALS0l ARUEIME Q| 7Hats Fotsty| flaf 2
Ack
11. The tour buses are scheduled to leave thirty minutes of their
arrival at the parking lot.
(A) within
(B) upon
(C) since
(D) toward

A)

A4 A8 FAYUEE  thirty minutesol] A RIZFS AXAF zR2] YY) g
30 ool 7} H ook stE= within(~o]Hlel)o] A ded Y since(~ol )= F= &
28 B} 7 22Ut be scheduled to ~3 o oIt} leave WU} arrival =2
parking lot 52+ since ~©] 2| upon ~3FA} within ~o]Wjol] toward ~7}7}e], FH

i) HYHAES FAtEO| TESH £ 308 olUjoll EEE of|Folct.

12. Matt Damon has added a low-priced line of kitchen products
directly with Bruce Dern .

(A) to compete

(B) compete

(C) competition

(D) a competitive

(A)

FAKdirectly)®] A& WS Qe A SARI], Bl 25 Ak(has added)7} 2o
B2 B8 YehE o 84 7t 7P 43Uk appliance (718-8) 717
719 low-priced A7} line (FFE Hole RHF/A7/7HA/EH0]l thdsh A
compete with ~2} Z A3} directly 2134422 competition 43 competitive 74 2],

Aol g

Matt Damon 2 Bruce Dern 2} AFMo=Z ZAMSH| 2la XM7te| FLHEE 2lels F
7134k,

13. The contest rules all participants to be citizens or legal
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residents of the country.
(A) acquire
(B) divide
(C) attribute
(D) require

(D)

BAMIE FARUCE U A7) FEL ZrbAEe] AlYle|y A AFA A
87 grprt Holof SlBE require(L7-3lt, Watth7t HAF T participant 3%
A} citizen A% legal HEAS], T 49l resident AFAE, T% acquire AT}, F53Ich
divide Yo}, 57381t} require 27310}, 3t} attribute ~2] o2 Fhr}

3 4719 izl ZE &IIRS0| AIZIo|ALE Al AFKY g 2Tt

o
ot

ol

14. Economists warn that the percentage of workers ages 20 to 45 will drop
sharply over the next two

(A) times

(B) economies

(C) decades

(D) percentages

(©)
@EIE] ¥ Zkolli= over the next two} 7 22o] 7|17HS el wol7t e shyc) ueba
decades”} HH gt} economist A 8HA} warn 7 35}C} sharply 54 3] decade 1013

7t economy 74 Al

4H Mzrts2 &% 2040 ZH 20-454 22AL H|S0| S2E ZHol2tal Hast
UL,
15. Some suggested that increasing the amount of walking done

in a day can improve overall health.
(A) applications
(B) assignments
(C) studies
(D) questions
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WAL o1 3] EA U T ARbs, AIAE suggeste] 017t & < A= A studies”t A
Aslez ()7} EYUT study I question ZE application A (4]) assignment
(@)Y that o]3} Ho] PubARl AMAS HolFal QOB R ofgE]E WA study
AUt} suggest YAISIE} increase F7FAIZITH improve #3A17IT) overall 1¥HA <1
health 17}
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